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LOGARITHMS
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PROPERTIES

log of zero and negative numbers 1s not defined.

Base of log 1s always positive but not equal to 1.
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PROPERTIES
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PROPERTIES
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PROPERTIES
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What is the value of log,27 + logg;32 ?
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What is the value of log,27 + logg;32 ?

A. 7/2

B. 19/6
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For what value(s) of x is log,,{ 999 + yx2 —3x+3}=3 ?
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For what value(s) of x is 10810{999 + /22 —3x+3}=3?

A. 0,1
B. 1
C. 2
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(log, bc) + 1 * (logpac) + 1 * (log.ab) + 1

is equal to
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If log, x=8 and logg, 16x=4, then find the value of'y.
(@) 1 (b) 2 (©) 3 (d) 5
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EXAMS

If log, x=8 and logg, 16x =4, then find the value of'y.
(@) 1 (b) 2 ) 3 d) 5

ANSWER : D
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If (0.2)* = 2 and log,,2 = 0.3010, then what is the value

of x to the nearest tenth ?

A.

B.

C.
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If (0.2)* = 2 and log,,2 = 0.3010, then what is the value

of x to the nearest tenth ?

A. -10.0
B. -0.5
C. -04

D. -0.2
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